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Case 1) M(xy)=2" = u(xy)=[M(x y)ix-+k(y) ool T3to] HE)
=[Mylicekly) = S=Nly) = 8 FE = k) B 7

Case2) NGoy)=30 = uloy)=[NGoy)y+19 (ol THFO] E42)
= [N(x,y)dy +1(x) = Z—i:M(x,y) = %% T = I(x)E 7







W Ex. 2 cos(x+ y)dx+(3y2+2y+cos(x+ y))dy:O% Z0{et.

e

Step 1 2H0I=LEA QXK

(e

M(x,y)=cos(x+y) = % =—sin(x+y)

N(x,y)=3y? +2y+cos(x+y) = z—ljz—sin(x+y) —
X

Step 2 DI EA2 dHE #&
.[M X, y Jdx + k( )=_[cos(x+ y)dx +k(y)=sin(x + y)+k(y)
(y)f -16tJ| ?ot:

%u:cos(x+y):N(X,y)=3y2+2y = %:3y2+2y = k=y’+y’+c*

u(x,y)=sin(x+y)+y3+y*=c
(Y) ( Y) y +y
Step 3 &3S

Z_i = cos(x-+y)+ cos(x + y)y'+3y?y'+2yy'=0 = cos(x+y)+(cos(x+y)+3y?2y)y'=0

= cos(x + y)dx + (3y2 +2y +cos(x + y))dy =0



